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VERTICE 31

XT1 =  438347.924
YT1 = 4919714.972
SVC1=       0.000
XTC1=  438347.924
YTC1= 4919714.972
AC1 =       0.000

XV  =  438349.784
YV  = 4919709.262
AV  =    190.4609
AD  =      9.5391
XC  =  438271.858
YC  = 4919690.193
R   =      80.000
SVRC=      11.987
SVL =      11.987

XT2 =  438350.771
YT2 = 4919703.339
SVC2=       0.000
XTC2=  438350.771
YTC2= 4919703.339
AC2 =       0.000

VERTICE 32

XT1 =  438357.464
YT1 = 4919663.163
SVC1=       0.000
XTC1=  438357.464
YTC1= 4919663.163
AC1 =       0.000

XV  =  438358.221
YV  = 4919658.615
AV  =    197.9036
AD  =      2.0964
XC  =  438633.657
YC  = 4919709.175
R   =     280.000
SVRC=       9.220
SVL =       9.220

XT2 =  438359.128
YT2 = 4919654.095
SVC2=       0.000
XTC2=  438359.128
YTC2= 4919654.095
AC2 =       0.000

VERTICE 33

XT1 =  438369.956
YT1 = 4919600.130
SVC1=       0.000
XTC1=  438369.956
YTC1= 4919600.130
AC1 =       0.000

XV  =  438372.372
YV  = 4919588.087
AV  =    169.3270
AD  =     30.6730
XC  =  438320.933
YC  = 4919590.295
R   =      50.000
SVRC=      24.091
SVL =      24.091

XT2 =  438368.933
YT2 = 4919576.294
SVC2=       0.000
XTC2=  438368.933
YTC2= 4919576.294
AC2 =       0.000

VERTICE 34

XT1 =  438367.875
YT1 = 4919572.667
SVC1=       0.000
XTC1=  438367.875
YTC1= 4919572.667
AC1 =       0.000

XV  =  438362.336
YV  = 4919553.677
AV  =    159.4517
AD  =     40.5483
XC  =  438425.475
YC  = 4919555.867
R   =      60.000
SVRC=      38.216
SVL =      38.216

XT2 =  438369.177
YT2 = 4919535.117
SVC2=       0.000
XTC2=  438369.177
YTC2= 4919535.117
AC2 =       0.000

VERTICE 35

XT1 =  438386.688
YT1 = 4919487.605
SVC1=       0.000
XTC1=  438386.688
YTC1= 4919487.605
AC1 =       0.000

XV  =  438390.891
YV  = 4919476.204
AV  =    180.8069
AD  =     19.1931
XC  =  438461.752
YC  = 4919515.272
R   =      80.000
SVRC=      24.119
SVL =      24.119

XT2 =  438398.289
YT2 = 4919466.564
SVC2=       0.000
XTC2=  438398.289
YTC2= 4919466.564
AC2 =       0.000

VERTICE 36-37

XV  =  438423.645
YV  = 4919433.528

VERTICE 38

XT1 =  438420.172
YT1 = 4919391.620
SVC1=       0.000
XTC1=  438420.172
YTC1= 4919391.620
AC1 =       0.000

XV  =  438419.447
YV  = 4919376.978
AV  =    176.9230
AD  =     23.0770
XC  =  438340.270
YC  = 4919395.580
R   =      80.000
SVRC=      28.999
SVL =      28.999

XT2 =  438413.576
YT2 = 4919363.544
SVC2=       0.000
XTC2=  438413.576
YTC2= 4919363.544
AC2 =       0.000

VERTICE 39

XT1 =  438388.628
YT1 = 4919306.458
SVC1=       0.000
XTC1=  438388.628
YTC1= 4919306.458
AC1 =       0.000

XV  =  438384.406
YV  = 4919296.798
AV  =    193.2953
AD  =      6.7047
XC  =  438571.891
YC  = 4919226.367
R   =     200.000
SVRC=      21.063
SVL =      21.063

XT2 =  438381.224
YT2 = 4919286.749
SVC2=       0.000
XTC2=  438381.224
YTC2= 4919286.749
AC2 =       0.000

VERTICE 40

XT1 =  438380.799
YT1 = 4919285.409
SVC1=       0.000
XTC1=  438380.799
YTC1= 4919285.409
AC1 =       0.000

XV  =  438377.357
YV  = 4919274.538
AV  =    176.0881
AD  =     23.9119
XC  =  438437.999
YC  = 4919267.294
R   =      60.000
SVRC=      22.536
SVL =      22.536

XT2 =  438378.142
YT2 = 4919263.163
SVC2=       0.000
XTC2=  438378.142
YTC2= 4919263.163
AC2 =       0.000

VERTICE 41

XT1 =  438380.501
YT1 = 4919228.978
SVC1=       0.000
XTC1=  438380.501
YTC1= 4919228.978
AC1 =       0.000

XV  =  438381.503
YV  = 4919214.458
AV  =    177.0864
AD  =     22.9136
XC  =  438300.691
YC  = 4919223.470
R   =      80.000
SVRC=      28.794
SVL =      28.794

XT2 =  438377.327
YT2 = 4919200.516
SVC2=       0.000
XTC2=  438377.327
YTC2= 4919200.516
AC2 =       0.000

VERTICE 42

XT1 =  438373.631
YT1 = 4919188.176
SVC1=       0.000
XTC1=  438373.631
YTC1= 4919188.176
AC1 =       0.000

XV  =  438368.234
YV  = 4919170.154
AV  =    170.5936
AD  =     29.4064
XC  =  438296.995
YC  = 4919211.130
R   =      80.000
SVRC=      36.953
SVL =      36.953

XT2 =  438355.370
YT2 = 4919156.427
SVC2=       0.000
XTC2=  438355.370
YTC2= 4919156.427
AC2 =       0.000

VERTICE 43

XT1 =  438343.133
YT1 = 4919143.368
SVC1=       0.000
XTC1=  438343.133
YTC1= 4919143.368
AC1 =       0.000

XV  =  438333.401
YV  = 4919132.982
AV  =    187.9544
AD  =     12.0456
XC  =  438233.680
YC  = 4919245.935
R   =     150.000
SVRC=      28.382
SVL =      28.382

XT2 =  438321.888
YT2 = 4919124.612
SVC2=       0.000
XTC2=  438321.888
YTC2= 4919124.612
AC2 =       0.000
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VERTICE 30

XT1 =  438332.269
YT1 = 4919763.030
SVC1=       0.000
XTC1=  438332.269
YTC1= 4919763.030
AC1 =       0.000

XV  =  438332.311
YV  = 4919762.900
AV  =    199.8662
AD  =      0.1338
XC  =  438455.960
YC  = 4919803.036
R   =     130.000
SVRC=       0.273
SVL =       0.273

XT2 =  438332.353
YT2 = 4919762.770
SVC2=       0.000
XTC2=  438332.353
YTC2= 4919762.770
AC2 =       0.000
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